Y2 — Summer — Block 1 — Step 3 — Recognise a half Answers

Question Answer

The whole cake is split into 2 equal parts.
Each part is worth a half.

1
This can be written as%
2 v v © 0 O0v
a) No
The 2 parts are different sizes.
b) No
3 The shape has been split into 3 equal parts, not 2
c) Yes
The shape has been split into 2 equal parts.
4
Some shapes can be coloured in different ways.
multiple different answers, e.g.




Y2 — Summer — Block 1 — Step 3 — Recognise a half Answers (continued)

Question Answer

b)
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c)
6
d)
Some shapes may have been drawn differently as they do not need to be a reflection, as
long as the size of the part is equal to the given part.
a) 3¢
¢ b) e
No
8 For each shaded rectangle, there is an unshaded rectangle that is the same size.
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